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Seat No.: ________                                                      Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- III

rd
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 335005            Date: 31/05/2012        

Subject Name: Structure I 

Time: 02:30 pm – 05:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

 

Q.1 (a) Define following terms.  07 

  Scalar quantity, Vector quantity, fundamental units,   Axis of Reference, 
Couple, Centre of gravity and Centroid. 

 

 (b) In the law of parallelogram :   

 (1) If θ = 0 
0
, i.e. when the force act along the same line, then R = -------. 01 

 (2) If θ = 90 
0
, i.e. when the force act at Right angle R = ---------. 01 

 (3) If θ = 180 
0
, i.e. when the force act along the same straight line but in 

opposite direction, R = -------. 
01 

 (c) Explain system of force with neat sketch. 04 

    

Q.2    

 (a) The resultant of two forces P and Q is R. If Q is doubled, the new resultant is 

perpendicular to P. Prove that Q = R. 
07 

 (b) Following forces are acting on a point. Calculate magnitude direction of 

resultant force. 
07 

 (1) 4 KN due North – East.   

 (2) 6 KN due East.  

 (3) 5 KN due  in a direction inclined 30
0
 North of West  

 (4) 8 KN due East.  

  OR  

 (b)   

 (1) State the theorem of three forces. 02 

 (2) A load of 500 N is hung by means of a rope attached to a hook in horizontal 

ceiling. What horizontal force should be applied so that rope    makes 60
0
 

with the ceiling? Draw free body diagram and also calculate Tension in rope.  
05 

    

Q.3 (a) Distinguish between Resultant force and Equivalent force. 04 

 (b) State the low of polygon of forces and low of triangle of forces. 04 

 (c) ABCD is a square of 2 m side. Forces 8 KN, 12KN, 12 KN, 10 KN are 

acting respectively along DA, AB, BC and BD. Find out magnitude and 

direction of resultant and will fall in which quadrant? 

06 

  OR  

Q.3 (a) State the low of Superposition and low of transmissibility. 04 

 (b) Distinguish between Resolution and Composition of forces. 04 

 (c) Three forces 1 KN, 2 KN and 3 KN are acting along three sides of an 

equilateral triangle in clockwise direction. Find the Magnitude and direction 

of the forces. 
06 

 

Q.4 

 

(a) 

 

Explain the types of the beam with neat sketch. 
 

05 

 (b) Discuss the types of load acting on a beam. 03 
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 (c) A simply supported beam AB 10 m long with udl of 20 KN/m for 4 m length 

from 2 m from left support A. and concentrated load of 40 KN at 2 m from 

right support b. Find out reaction at support A & B. 
06 

  OR  

Q. 4 (a) State the various types of supports with neat sketch. 05 

 (b) Explain the condition of equilibrium of concurrent forces. 03 

 (c) A beam ABC is 6 m. long. End A is hinged and B is supported on roller. AB 

is 4 m and portion BC is overhanging. Load on span AB is 50 KN/m udl and 

point load of 80 KN acting at point C. Find the reactions at A and B.  
06 

    

Q.5 (a) State clearly the difference between a Deficient frame and Redundant frame 

with the help of sketches. 
04 

 (b) State various methods to find out internal forces in the member of truss. 

Explain any one method with example. 
05 

 (c) Calculate the centre of gravity of T section having flange 15 x 2 cm, and web 

2 x 20 cm. Also show the position of C.G. on figure. 
05 

  OR  

Q.5 (a) State clearly the difference between a perfect frame and an imperfect frame 

with the help of sketches. 
04 

 (b) What is the assumption made, while finding out the forces in the various 

member of a frame structure? 
05 

 (c) An I section has following dimensions in mm. determine the position of 

centre of gravity of the section. Also show the position of C.G. on figure. 

Bottom flange 300 x 100, Top flange 150 x 50 and web 300 x 50. 

05 

 

************ 

 

 

����. . . . ૧૧૧૧= ((((અઅઅઅ))))==== નીચેના પદોની �યા�યા આપો.= ૦૦૦૦૭૭૭૭ 

        અ�દશ રાિશ, સ�દશ રાિશ, �ળૂ�તૂ એકમો, અ$સંધંાન અ'ુ , બળ *+મુ . 

,-.વુ ુ ક012 =  અને મ3યક012 . 

 

= ((((બબબબ))))==== સમાતંર બા4 ચ56કોણ ના િનયમ માંુ ુ ,  

= (૧) જો � = ૦૦, અથા;ત બનેં બળો એક જ �દશામા ંકાય;રત હોય તો R =------- ૦૦૦૦૧૧૧૧ 

= (૨) જો �Ɵ = ૯૦૦, અથા;ત બનેં બળો એકબી@ને કાટBણેૂ કાય; કરતા હોય તો 

  R =------- 

૦૦૦૦૧૧૧૧ 

= (૩) જો � = ૧૮૦૦, અથા;ત બનેં બળો ની કાય;રખા એક જ રખામા ં પરં5 પરFપર 2 2 ુ

િવરોધી �દશામા ંહોય તો R =------- 

૦૦૦૦૧૧૧૧ 

    ((((કકકક))))    બળો ની િસFટમ સGચH સમ@વો.= ૦૪૦૪૦૪૦૪ 

    =   

����. . . . ૨૨૨૨= ((((અઅઅઅ))))==== બે બળો P અને Q $ ંપ�રણામીબળ ુ R. છે. જો Q  ને બમK ંકરવામા ંઆવે તો ુ

નL ંપ�રણામી બળ ુ P ને લબં થાય છે, તો સાGબત કરો ક 2  Q = R. 

૦૭૦૭૦૭૦૭ 

= ((((બબબબ))))==== નીચેના બળો એક GબNOએ લાગે છેુ . તેમના પ�રણામી બળ $ ંપ�રમાણ અને ુ

�દશા શોધો.=

૦૭૦૭૦૭૦૭ 
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= (૧) ૪ �કલો 0*ટન $ ંબળ ઉRર Sવૂ; તરફુ ુ      
= (૨) ૬ �કલો 0*ટન $ ંબળ Sવૂ; તરફુ ુ      
= (૩) ૫ �કલો 0*ટન $ ંબળ ુ ુ પWXવમ તરફ ૩૦૦ ઉRર નમતી �દશા તરફ     
= (૪) ૮  �કલો 0*ટન $ ંબળ દG'ણ તરફુ ુ =     
= = અથવાઅથવાઅથવાઅથવા=  

= ((((બબબબ))))==== =  

= (૧) Hણ બળો નો �મેય સમ@વો ૦૦૦૦૨૨૨૨ 

= (૨) એક સમG'િતજ છતમા ંઆવેલ Yકમાથંી ૂ ૫૦૦ 0*ટન$ ંવજન લટકાવેલ છેુ ુ . 

છત સાથે દોરZ ૬૦૦ નો Bણૂો બનાવે તેમ કરL ંહોય તો સમG'િતજ �દશામા ંુ

કટ[ ંબળ લગાવL ંજોઈએ2 ુ ુ ? �^ત પદાથ; GચH દોરો અને દોરZમા ંખેચાણ  ુ

બળ પણ શોધો. 

૦૫૦૫૦૫૦૫ 

����. . . . ૩૩૩૩= ((((અઅઅઅ))))==== પ�રણામી બળ અને સમ5_ય બળો વ`ચે નો તફાવત આપોુ .= ૦૪૦૪૦૪૦૪ 

= ((((બબબબ))))==== બળોના બYકોણનો િનયમ અને િHકોણ નો િનયમ ુ જણાવો.= ૦૪૦૪૦૪૦૪ 

= ((((કકકક))))    ABCD એ ૨ મીટરનીબા4 ધરાવતો ચોરસ છેુ . aના ઉપર ૮ �ક.0*.ુ,=

૧૨ �ક.0*.ુ, ૧૨ �ક.0*.ુ, અને ૧૦ �ક.0*.ુ, DA, AB, BC=અને=BD=અ$bમે ની ુ

�દશામા ંલાગે છે તો આ બળ િસFટમના પ�રણામી બળની �દશા અને �_ૂય 

શોધો. અને પ�રણામી બળ કયા ચરણમા ંહશે તે  જણાવો.=

૦૬૦૬૦૬૦૬ 

= = અથવાઅથવાઅથવાઅથવા=  

����. . . . ૩૩૩૩= ((((અઅઅઅ))))==== અ3યારોપણનો િનયમ અને �ેષણતાનો િનયમ આdિત સાથે સમ@વોૃ . ૦૪૦૪૦૪૦૪ 

= ((((બબબબ))))==== બળો$ ંિવઘટન અને સગંઠન વ`ચેનો તફાવત આપોુ .= ૦૪૦૪૦૪૦૪ 

= ((((કકકક))))    ૧ �ક.0*.ુ, ૨ �ક.0*.ુ અને ૩ �ક.0*.ુનાHંણ બળો અ$bમે એક સમબા4 િHકોણ ુ ુ

ની બા4ઓ પર ઘ�ડયાળના કાટંની �દશામા ંલાગે છેુ . આ બળો ના ંપ�રણામી 

બળની �દશા અને પ�રમાણ શોધો.=

૦૬૦૬૦૬૦૬ 

= = =  

����. . . . ૪૪૪૪= ((((અઅઅઅ))))==== િવિવધ �કાર ના બીમ આdિત સાથે સમ@વોૃ . ૦૫૦૫૦૫૦૫    

    ((((બબબબ))))==== બીમ પર લાગતા 4દા 4દા ભારની ચચા; કરોુ ુ . ૦૦૦૦૩૩૩૩ 

= ((((કકકક))))    બે સાદZ રZતે ટકવેલા બીમ 2 AB ૧૦ મીટર લાkં છેુ . અને તેના ડાબા છેડા====Aથી 

૨ મીટર ના lતરથી શ- 2 ુ કરZ ૪ મીટર માટ 2 ૨૦ �ક 0*.ુ/મીટરનો====સમિવત�રત 

ભાર લાગે છે અને એના જમણાછેડા B થી ૨ મીટર ના lતર 2 ૪૦ �ક 0*.ુ નો 

કn01તભાર લાગે છે તો છેડા 2 A & B ઉપર ઉદભવતી �િત�bયાઓ શોધો.====

૦૬૦૬૦૬૦૬ 

=  અથવાઅથવાઅથવાઅથવા====  

����. . . . ૪૪૪૪= ((((અઅઅઅ))))==== બીમ ના િવિવધ �કાર ના ટકાઓ 2 આdિત સાથે સમ@વોૃ . ૦૫૦૫૦૫૦૫    
= ((((બબબબ))))==== સમતલીય સગંામી બળો ની સમતોલનમા ંરહવા માટની શરતો સમ@વો2 2 . ૦૦૦૦૩૩૩૩ 

= ((((કકકક))))    એક પાટડો ABC    ૬ મી. લાબંો છે. A છેડો િમ@ગરલ છે2 .B છેડો રોલર પર ૦૬૦૬૦૬૦૬ 
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ટકવેલો છે2 . AB    નો ગાળો ૪ મી. છે. અને ભાગ BC લટકતો છે. AB    ગાળા ૫૦ 

�ક 0*.ુ /મીટરનો====સમિવત�રત ભાર લાગે છે અને C GબNO પર ુ ૮૦ �ક 0*.ુ 

કn01તભાર લાગે છે તો છેડા 2 A & B ઉપર ઉદભવતી �િત�bયાઓ શોધો.  
= = =  

����. . . . ૫૫૫૫= ((((અઅઅઅ))))==== 0*ન pમ અને અિત�ર^ત ુ 2 pમ 2 વ`ચે નો તફાવત આdિત દોરZ સમ@વોૃ .= ૦૪૦૪૦૪૦૪    
= ((((બબબબ))))==== qસ ના મેrબર મા ંઉદભવતા ંsત�રક બળો શોધવા માટની રZતો ના નામ 2

આપો. કોઈ પણ એક રZત ઉદાહરણ સાથે સમ@વો.=

૦૫૦૫૦૫૦૫    

= ((((કકકક))))    T=આકારના આડછેદ$ ં,-.વુ ુ ુ  મ3યGબNO શોધોુ . a$ ું૧૫ x ૨ સે.મી. $ ંtલે0જ ુ

અને ૨ x ૨૦ સે.મી. ની વેબ છે. આડછેદની આdિત દોરZ તેમા ંૃ  ,-.વુ ુ  

મ3યGબNOુ દશા;વો. 

૦૫૦૫૦૫૦૫    

= = અથવાઅથવાઅથવાઅથવા====  

����. . . . ૫૫૫૫= ((((અઅઅઅ))))==== પરફ^ટ pમ અને 2 2 ઇમ પરફ^ટ pમ 2 2 વ`ચે નો તફાવત આdિત દોરZ સમ@વોૃ = ૦૪૦૪૦૪૦૪    
= ((((બબબબ))))==== pમ Fq^ચર ના િવિવધ ઘટકોના બળો શોધવાની �bયામા ંકયા કયા અ$માનો 2 ુ

કરવામા ંઆવેલ છે.=

૦૫૦૫૦૫૦૫    

= ((((કકકક))))    એક આઈ સે^સન ક aના માપો 2 ‘મી. મી.’ મા ંનીચે �જબ છે તો આ સે^સન$ ંુ ુ

સે0ટર ઓફ xેવીટZ શોધો.=આડછેદની આdિત દોરZ તેમા ંૃ  ,-ુુ.વ મ3યGબNOુ 

દશા;વો.નીચેની tલે0જ ૩૦૦ x ૧૦૦, ઉપરની tલે0જ ૧૫૦ x ૫૦ અને 

વેબ ૩૦૦ x ૧૦૦,=

૦૫૦૫૦૫૦૫    

 

 

************ 
=
=
=


